Weak Convergence of a Projection Algorithm for Variational Inequalities and Relatively Nonexpansive Mappings in a Banach Space

Ying LIU

College of Mathematics and Computer, Hebei University, Hebei 071002, P. R. China

Abstract In this paper, we introduce an iterative sequence for finding a common element of the set of fixed points of a relatively nonexpansive mapping and the set of solutions of the variational inequality for an inverse-strongly-monotone mapping in a Banach space. Then we show that the sequence converges weakly to a common element of two sets.

Keywords relatively nonexpansive mapping; generalized projection; inverse-strongly-monotone mapping; weakly sequential continuity; p-uniformly convexity constant.

Document code A MR(2000) Subject Classification 47H05; 47J25; 47H09 Chinese Library Classification O177.91

1. Introduction

Let E be a real Banach space with norm $\|\cdot\|$, let E^* denote the dual of E and let $\langle x, f \rangle$ denote the value of $f \in E^*$ at $x \in E$. Suppose that C is a nonempty, closed convex subset of E and A is a monotone operator of C into E^* . Then we study the problem of finding a point $u \in C$ such that

$$\langle v - u, Au \rangle > 0, \quad \forall v \in C.$$
 (1.1)

This problem is called the variational inequality problem [1]. The set of solutions of the variational inequality problem is denoted by VI(C, A). Such a problem is connected with the convex minimization problem, the complementarity problem, the problem of finding a point $u \in E$ satisfying 0 = Au and so on. An operator A of C into E^* is said to be inverse-strongly-monotone [2–4] if there exists a positive real number α such that

$$\langle x - y, Ax - Ay \rangle \ge \alpha ||Ax - Ay||^2$$

for all $x, y \in C$. In such a case, A is said to be α -inverse-strongly-monotone. If A is an α -inverse-strongly-monotone mapping of C into E^* , then it is obvious that A is $\frac{1}{\alpha}$ -Lipschitz continuous.

In 2005, Iiduka and Takahashi [5] proved strong convergence theorems for finding a common element of the set of solution of the variational inequality problem for an inverse-strongly-monotone mapping and the set of fixed points of a nonexpansive mapping in a Hilbert space. In

Received May 6, 2008; Accepted October 6, 2008 E-mail address: ly_cyh2007@yahoo.com.cn the same year, Matsushita, and Takahashi [6] proved a strong convergence theorem for relatively nonexpansive mappings in a Banach space by using generalized projection algorithm. Recently, Iiduka and Takahashi [7] introduced the following iteration process:

$$x_{n+1} = \Pi_C J^{-1} (Jx_n - \lambda_n Ax_n). \tag{1.2}$$

They proved the sequence $\{x_n\}$ converges weakly to a solution of the variational inequality problem (1.1) for an operator A that satisfies the following conditions in a 2-uniformly convex and uniformly smooth Banach space E:

- (1) A is α -inverse-strongly-monotone; (2) VI $(C, A) \neq \emptyset$;
- (3) $||Ay|| \le ||Ay Au||$ for all $y \in C$ and $u \in VI(C, A)$.

Inspired and motivated by these facts, our purpose in this paper is to obtain a weak convergence theorem for finding a common element of the set of solutions of a variational inequality problem and the set of fixed points of a relatively nonexpansive mapping in a Banach space.

2. Preliminaries

Throughout this paper, we denote by N and R the sets of positive integers and real numbers, respectively. When $\{x_n\}$ is a sequence in E, we denote strong convergence of $\{x_n\}$ to $x \in E$ by $x_n \to x$ and weak convergence by $x_n \rightharpoonup x$.

A multi-valued operator $T: E \to 2^{E^*}$ with domain $D(T) = \{z \in E: Tz \neq \emptyset\}$ and range $R(T) = \bigcup \{Tz \in E^*: z \in D(T)\}$ is said to be monotone if $\langle x_1 - x_2, y_1 - y_2 \rangle \geq 0$ for each $x_i \in D(T)$ and $y_i \in Tx_i$, i = 1, 2. A monotone operator T is said to be maximal if its graph $G(T) = \{(x, y): y \in Tx\}$ is not properly contained in the graph of any other monotone operator.

Let $U=\{x\in E:\|x\|=1\}$. A Banach space E is said to be strictly convex if for any $x,y\in U,\,x\neq y$ implies $\|\frac{x+y}{2}\|<1$. It is also said to be uniformly convex if for each $\epsilon\in(0,2]$, there exists $\delta>0$ such that for any $x,y\in U,\,\|x-y\|\geq\epsilon$ implies $\|\frac{x+y}{2}\|\leq 1-\delta$. It is known that a uniformly convex Banach space is reflexive and strictly convex. And we define a function $\delta:[0,2]\to[0,1]$ called the modulus of convexity of E as follows:

$$\delta(\epsilon) = \inf\{1 - \|\frac{x+y}{2}\| : x, y \in U, \|x-y\| \ge \epsilon\}.$$

Then E is a uniformly convex if and only if $\delta(\epsilon) > 0$ for all $\epsilon \in (0, 2]$. Let p be a fixed real number with $p \geq 2$. A Banach space E is said to be p-uniformly convex if there exists a constant c > 0 such that $\delta(\epsilon) \geq c\epsilon^p$ for all $\epsilon \in [0, 2]$. For example, see [8] and [9] for more details. We know the following fundamental characterization [7, 8] of p-uniformly convex Banach spaces:

Lemma 2.1 ([8]) Let p be a real number with $p \ge 2$ and E a Banach space. Then E is p-uniformly convex if and only if there exists a constant $0 < c \le 1$ such that

$$\frac{1}{2}(\|x+y\|^p + \|x-y\|^p) \ge \|x\|^p + c^p \|y\|^p \quad \text{for all } x, y \in E.$$
 (2.1)

The best constant 1/c in Lemma 2.1 is called the p-uniformly convexity constant of E ([8]).

A Banach space E is said to be smooth if the limit

$$\lim_{n \to \infty} \frac{\|x + ty\| - \|x\|}{t} \tag{2.2}$$

exists for all $x, y \in U$. It is also said to be uniformly smooth if the limit (2.2) is attained uniformly for $x, y \in U$. One should note that no Banach space is p-uniformly convex for $1 ; see [9] for more details. It is well known that Hilbert and the Lebesgue <math>L^q$ ($1 < q \le 2$) spaces are 2-uniformly convex, uniformly smooth.

On the other hand, with each p > 1, the (generalized) duality mapping J_p from E into 2^{E^*} is defined by

$$J_p(x) := \{ v \in E^* : \langle x, v \rangle = ||x||^p, ||v|| = ||x||^{p-1} \}, \quad \forall x \in E.$$

In particular, $J = J_2$ is called the normalized duality mapping. If E is a Hilbert space, then J = I, where I is the identity mapping. The duality mapping J has the following properties:

- (i) If E is smooth, then J is single-valued;
- (ii) If E is strictly convex, then J is one-to-one;
- (iii) If E is reflexive, then J is surjective.
- (iv) If E is uniformly smooth, then J is uniformly norm-to-norm continuous on each bounded subset of E.

The duality mapping J from a smooth Banach space E into E^* is said to be weakly sequentially continuous [7] if $x_n \rightharpoonup x$ implies $Jx_n \rightharpoonup^* Jx$, where \rightharpoonup^* implies the weak* convergence.

Lemma 2.2 ([7]) Let p be a given real number with $p \ge 2$ and E a p-uniformly convex Banach space. Then, for all $x, y \in E, j_x \in J_p x$ and $j_y \in J_p y$,

$$\langle x - y, j_x - j_y \rangle \ge \frac{c^p}{2^{p-2}p} ||x - y||^p,$$

where J_p is the generalized duality mapping of E and 1/c is the p-uniformly convexity constant of E.

Let E be a smooth Banach space. The function $\phi: E \times E \to R$ is defined by

$$\phi(y, x) = ||y||^2 - 2\langle y, Jx \rangle + ||x||^2$$

for all $x, y \in E$. It is obvious from the definition of the function ϕ that

$$(\|y\| - \|x\|)^2 \le \phi(y, x) \le (\|y\| + \|x\|)^2, \quad \forall x, y \in E.$$
(2.3)

Remark 2.1 From the Remark 2.1 of [6], we can know that if E is a strictly convex and smooth Banach space, then for $x, y \in E$, $\phi(y, x) = 0$ if and only if x = y.

Lemma 2.3 ([6]) Let E be a uniformly convex and smooth Banach space and let $\{y_n\}, \{z_n\}$ be two sequences of E. If $\phi(y_n, z_n) \to 0$, and either $\{y_n\}$, or $\{z_n\}$ is bounded, then $y_n - z_n \to 0$.

Let C be a nonempty closed convex subset of E. Suppose that E is reflexive, strictly convex and smooth. Then, for any $x \in E$, there exists a unique element $x_0 \in C$ such that

$$\phi(x_0, x) = \min_{y \in C} \phi(y, x).$$

The mapping $\Pi_C: E \to C$ defined by $\Pi_C x = x_0$ is called the generalized projection [6, 7, 10]. In a Hilbert space, $\Pi_C = P_C$ (metric projection). The following are well-known results.

Lemma 2.4 ([6,7,10]) Let C be a nonempty closed convex subset of a smooth Banach space $E, x \in E$ and $x_0 \in C$. Then, $x_0 = \Pi_C x$ if and only if

$$\langle x_0 - y, Jx - Jx_0 \rangle \ge 0$$
, for all $y \in C$.

Lemma 2.5 ([6,7,10]) Let E be a reflexive, strictly convex and smooth Banach space, let C be a nonempty closed convex subset of E and let $x \in E$. Then

$$\phi(y, \Pi_C x) + \phi(\Pi_C x, x) \le \phi(y, x), \quad \forall y \in C.$$

Lemma 2.6 ([7]) Let S be a nonempty, closed convex subset of a uniformly convex, smooth Banach space E. Let $\{x_n\}$ be a sequence in E. Suppose that, for all $u \in S$,

$$\phi(u, x_{n+1}) \le \phi(u, x_n)$$

for every $n \in \mathbb{N}$. Then $\{\Pi_S(x_n)\}$ is a Cauchy sequence.

Let C be a nonempty closed convex subset of a smooth, strictly convex and reflexive Banach space E, let T be a mapping from C into itself. We denote by F(T) the set of fixed points of T. A point $p \in C$ is said to be an asymptotic fixed point of T if there exists $\{x_n\}$ in C which converges weakly to p and $\lim_{n\to\infty} ||x_n - Tx_n|| = 0$. We denote the set of all asymptotic fixed points of T by $\hat{F}(T)$. A mapping T of C into itself is said to be relatively nonexpansive [6,11] if the following conditions are satisfied:

- (i) F(T) is nonempty;
- (ii) $\phi(u, Tx) \le \phi(u, x), \forall u \in F(T), x \in C$; (iii) $\hat{F}(T) = F(T)$.

Lemma 2.7 ([6]) Let E be a strictly convex and smooth Banach space, let C be a closed convex subset of E, and let T be a relatively nonexpansive mapping from C into itself. Then F(T) is closed and convex.

Let E be a reflexive, strictly convex, smooth Banach space and J the duality mapping from E into E^* . Then J^{-1} is also single-valued, one-to-one, surjective, and it is the duality mapping from E^* into E. We make use of the following mapping V studied in Alber [12]:

$$V(x, x^*) = ||x||^2 - 2\langle x, x^* \rangle + ||x^*||^2$$
(2.4)

for all $x \in E$ and $x^* \in E^*$. In other words, $V(x, x^*) = \phi(x, J^{-1}(x^*))$ for all $x \in E$ and $x^* \in E^*$. For each $x \in E$, the mapping g defined by $g(x^*) = V(x, x^*)$ for all $x^* \in E^*$ is a continuous, convex function from E^* into R. We know the following lemma [12]:

Lemma 2.8 ([12]) Let E be a reflexive, strictly convex, smooth Banach space and let V be as in (2.4). Then

$$V(x, x^*) + 2\langle J^{-1}(x^*) - x, y^* \rangle \le V(x, x^* + y^*), \text{ for all } x \in E \text{ and } x^*, y^* \in E^*.$$

An operator A of C into E^* is said to be hemicontinuous if for all $x, y \in C$, the mapping f of [0,1] into E^* defined by f(t) = A(tx + (1-t)y) is continuous with respect to the weak* topology of E^* . We denote by $N_C(v)$ the normal cone for C at a point $v \in C$, that is,

$$N_C(v) = \{x^* \in E^* : \langle v - y, x^* \rangle \ge 0 \text{ for all } y \in C\}.$$

We know the following theorem ([13]):

Theorem 2.9 ([13]) Let C be a nonempty, closed convex subset of a Banach space E and A a monotone, hemicontinuous operator of C into E^* . Let $T \subset E \times E^*$ be an operator defined as follows:

$$Tv = \begin{cases} Av + N_C(v), & v \in C, \\ \emptyset, & v \in C. \end{cases}$$

Then T is maximal monotone and $T^{-1}0 = VI(C, A)$.

Lemma 2.10 ([7]) Let C be a nonempty, closed convex subset of a Banach space E and A a monotone, hemicontinuous operator of C into E^* . Then

$$VI(C, A) = \{ u \in C : \langle v - u, Av \rangle \ge 0 \text{ for all } v \in C \}.$$

It is obvious from Lemma 2.10 that the set VI(C, A) is a closed convex subset of C.

Lemma 2.11 ([14]) Let E be a uniformly convex Banach space and let r > 0. Then there exists a continuous strictly increasing convex function $g: [0, 2r] \to R$ such that g(0) = 0 and

$$||tx + (1-t)y||^2 \le t||x||^2 + (1-t)||y||^2 - t(1-t)g(||x-y||),$$

for all $x, y \in B_r$ and $t \in [0, 1]$, where $B_r = \{z \in E : ||z|| \le r\}$.

3. Main results

Theorem 3.1 Let E be a 2-uniformly convex, uniformly smooth Banach space whose duality mapping J is weakly sequentially continuous. Let C be a nonempty, closed convex subset of E. Assume that A is an operator of C into E^* that satisfies the conditions (1)–(3). Assume that S is a relatively nonexpansive mapping from C into itself such that $F = F(S) \cap VI(C, A) \neq \emptyset$. Suppose that $x_1 = x \in C$ and $\{z_n\}$ is defined by

$$\begin{cases} z_n = \Pi_C(J^{-1}(Jx_n - \lambda_n Ax_n)), \\ x_{n+1} = \Pi_C J^{-1}(\alpha_n Jz_n + (1 - \alpha_n) JSz_n), \end{cases}$$
(3.1)

 $n=1,2,\ldots$, where $\{\lambda_n\}$ is a sequence of positive numbers, $\{\alpha_n\}\subset (0,1)$, satisfies $\liminf_{n\to\infty}\alpha_n(1-\alpha_n)>0$. If $\{\lambda_n\}$ is chosen so that $\lambda_n\in [a,b]$ for some a,b with $0< a< b< c^2\alpha/2$, then the sequence $\{z_n\}$ converges weakly to some element $z\in F$, where $\frac{1}{c}$ is the 2-uniformly convexity constant of E. Further $z=\lim_{n\to\infty}\Pi_F(z_n)$.

Proof Put $y_n = J^{-1}(Jx_n - \lambda_n Ax_n)$ for every $n \in \mathbb{N}$. Let $p \in \mathbb{F}$. It follows from Lemmas 2.5

and 2.8 that

$$\phi(p, z_{n+1}) = \phi(p, \Pi_C y_{n+1}) \le \phi(p, y_{n+1}) = V(p, J x_{n+1} - \lambda_{n+1} A x_{n+1})$$

$$\le V(p, (J x_{n+1} - \lambda_{n+1} A x_{n+1}) + \lambda_{n+1} A x_{n+1}) - 2\langle J^{-1}(J x_{n+1} - \lambda_{n+1} A x_{n+1}) - p, \lambda_{n+1} A x_{n+1} \rangle$$

$$= V(p, J x_{n+1}) - 2\lambda_{n+1} \langle y_{n+1} - p, A x_{n+1} \rangle$$

$$= \phi(p, x_{n+1}) - 2\lambda_{n+1} \langle x_{n+1} - p, A x_{n+1} \rangle + 2\langle y_{n+1} - x_{n+1}, -\lambda_{n+1} A x_{n+1} \rangle \quad (3.2)$$

for every $n \in N$. From the condition (1) and $p \in VI(C, A)$, we have

$$-2\lambda_{n+1}\langle x_{n+1} - p, Ax_{n+1} \rangle = -2\lambda_{n+1}\langle x_{n+1} - p, Ax_{n+1} - Ap \rangle - 2\lambda_{n+1}\langle x_{n+1} - p, Ap \rangle$$

$$\leq -2\lambda_{n+1}\alpha ||Ax_{n+1} - Ap||^{2}$$
(3.3)

for every $n \in \mathbb{N}$. By Lemma 2.2 and the condition (3), we also have

$$2\langle y_{n+1} - x_{n+1}, -\lambda_{n+1}Ax_{n+1} \rangle \leq 2\|y_{n+1} - x_{n+1}\| \|\lambda_{n+1}Ax_{n+1}\|$$

$$\leq \frac{4}{c^2} \|Jy_{n+1} - Jx_{n+1}\| \|\lambda_{n+1}Ax_{n+1}\| = \frac{4}{c^2} \|-\lambda_{n+1}Ax_{n+1}\| \|\lambda_{n+1}Ax_{n+1}\|$$

$$= \frac{4}{c^2} \lambda_{n+1}^2 \|Ax_{n+1}\|^2 \leq \frac{4}{c^2} \lambda_{n+1}^2 \|Ax_{n+1} - Ap\|^2$$

$$(3.4)$$

for each $n \in \mathbb{N}$. Therefore, from (3.3), (3.4), (3.2), and the convexity of $\|\cdot\|^2$, we get

$$\phi(p, z_{n+1}) \leq \phi(p, x_{n+1}) + 2a(\frac{2}{c^2}b - \alpha)\|Ax_{n+1} - Ap\|^2$$

$$\leq \phi(p, J^{-1}(\alpha_n J z_n + (1 - \alpha_n) J S z_n)) + 2a(\frac{2}{c^2}b - \alpha)\|Ax_{n+1} - Ap\|^2$$

$$\leq \|p\|^2 - 2\langle p, \alpha_n J z_n + (1 - \alpha_n) J S z_n\rangle +$$

$$\alpha_n \|z_n\|^2 + (1 - \alpha_n)\|Sz_n\|^2 + 2a(\frac{2}{c^2}b - \alpha)\|Ax_{n+1} - Ap\|^2$$

$$= \alpha_n \phi(p, z_n) + (1 - \alpha_n)\phi(p, Sz_n) + 2a(\frac{2}{c^2}b - \alpha)\|Ax_{n+1} - Ap\|^2$$

$$\leq \phi(p, z_n) + 2a(\frac{2}{c^2}b - \alpha)\|Ax_{n+1} - Ap\|^2 \leq \phi(p, z_n)$$

$$(3.5)$$

for each $n \in N$. Therefore, $\{\phi(p, z_n)\}$ is nonincreasing and hence there exists $\lim_{n\to\infty} \phi(p, z_n)$. So, $\{z_n\}$ is bounded. It follows from (3.5) that

$$-2a(\frac{2}{c^2}b - \alpha)||Ax_{n+1} - Ap||^2 \le \phi(p, z_n) - \phi(p, z_{n+1}),$$

which implies $\lim_{n\to\infty} ||Ax_{n+1} - Ap|| = 0$. From Lemmas 2.5, 2.8 and (3.4), we have

$$\phi(x_n, z_n) = \phi(x_n, \Pi_C y_n) \le \phi(x_n, y_n) = V(x_n, Jx_n - \lambda_n Ax_n)$$

$$\le V(x_n, Jx_n - \lambda_n Ax_n + \lambda_n Ax_n) - 2\langle J^{-1}(Jx_n - \lambda_n Ax_n) - x_n, \lambda_n Ax_n \rangle$$

$$= \phi(x_n, x_n) - 2\langle y_n - x_n, \lambda_n Ax_n \rangle$$

$$= 2\langle y_n - x_n, -\lambda_n Ax_n \rangle \le \frac{4}{c^2} \lambda_n^2 ||Ax_n - Ap||^2$$

for each $n \in \mathbb{N}$. By $\lim_{n \to \infty} ||Ax_{n+1} - Ap|| = 0$, we get

$$\lim_{n \to \infty} \phi(x_n, z_n) = 0. \tag{3.6}$$

Applying Lemma 2.3, we obtain from (3.6) that

$$\lim_{n \to \infty} ||x_n - z_n|| = 0. (3.7)$$

Since J is uniformly norm-to-norm continuous on bounded sets, we have

$$\lim_{n \to \infty} ||Jx_n - Jz_n|| = 0. (3.8)$$

Since $\{z_n\}$ is bounded, $\{Sz_n\}$ is also bounded. Let $r = \sup_{n \in \mathbb{N}} \{\|z_n\|, \|Sz_n\|\}$. Since E is a uniformly smooth Banach space, we know that E^* is a uniformly convex Banach space. Therefore, from Lemma 2.11 there exists a continuous, strictly increasing, convex function g with g(0) = 0 such that

$$\|\alpha x^* + (1 - \alpha)y^*\|^2 \le \alpha \|x^*\|^2 + (1 - \alpha)\|y^*\|^2 - \alpha(1 - \alpha)g(\|x^* - y^*\|)$$

for $x^*, y^* \in B_r^*$ and $\alpha \in [0, 1]$. So, for $p \in F$, from (3.1) and (3.5), we have

$$\phi(p, z_{n+1}) \leq \phi(p, x_{n+1}) \leq \phi(p, J^{-1}(\alpha_n J z_n + (1 - \alpha_n) J S z_n))$$

$$\leq ||p||^2 - 2\langle p, \alpha_n J z_n + (1 - \alpha_n) J S z_n \rangle +$$

$$\alpha_n ||z_n||^2 + (1 - \alpha_n) ||S z_n||^2 - \alpha_n (1 - \alpha_n) g(||J z_n - J S z_n||)$$

$$\leq \phi(p, z_n) - \alpha_n (1 - \alpha_n) g(||J z_n - J S z_n||).$$

Therefore, we have

$$\alpha_n(1-\alpha_n)g(\|Jz_n-JSz_n\|) \le \phi(p,z_n) - \phi(p,z_{n+1}), \quad \forall n \in \mathbb{N}.$$

Since there exists $\lim_{n\to\infty} \phi(p,z_n)$ and $\liminf_{n\to\infty} \alpha_n(1-\alpha_n) > 0$, we have $\lim_{n\to\infty} g(\|Jz_n - JSz_n\|) = 0$. Therefore, from the property of g we have $\lim_{n\to\infty} \|Jz_n - JSz_n\| = 0$. Since J^{-1} is also uniformly norm-to-norm continuous on bounded sets, we have

$$\lim_{n \to \infty} ||z_n - Sz_n|| = 0.$$
 (3.9)

Since $\{z_n\}$ is bounded, there exists a subsequence $\{z_{n_k}\}$ of $\{z_n\}$ such that $z_{n_k} \to z$. Since S is relatively nonexpansive, we have $z \in \hat{F}(S) = F(S)$. Next, we show that $z \in VI(C, A)$. Let $T \subset E \times E^*$ be an operator as follows:

$$Tv = \begin{cases} Av + N_C(v), & v \in C, \\ \emptyset, & v \in C. \end{cases}$$

By Theorem 2.9, T is maximal monotone and $T^{-1}0 = VI(C, A)$. Let $(v, w) \in G(T)$. Since $w \in Tv = Av + N_C(v)$, we have $w - Av \in N_C(v)$. From $z_n \in C$, we get

$$\langle v - z_n, w - Av \rangle \ge 0. \tag{3.10}$$

On the other hand, from $z_n = \prod_C y_n$ and Lemma 2.4, we have $\langle v - z_n, Jz_n - (Jx_n - \lambda_n Ax_n) \rangle \ge 0$ and hence

$$\langle v - z_n, \frac{Jx_n - Jz_n}{\lambda_n} - Ax_n \rangle \le 0.$$
 (3.11)

Then it follows from (3.10) and (3.11) that

$$\begin{split} \langle v-z_n,w\rangle \geq &\langle v-z_n,Av\rangle \\ \geq &\langle v-z_n,Av\rangle + \langle v-z_n,\frac{Jx_n-Jz_n}{\lambda_n}-Ax_n\rangle \\ = &\langle v-z_n,Av-Ax_n\rangle + \langle v-z_n,\frac{Jx_n-Jz_n}{\lambda_n}\rangle \\ = &\langle v-z_n,Av-Az_n\rangle + \langle v-z_n,Az_n-Ax_n\rangle + \\ &\langle v-z_n,\frac{Jx_n-Jz_n}{\lambda_n}\rangle \\ \geq &-\|v-z_n\|\frac{\|z_n-x_n\|}{\alpha} - \|v-z_n\|\frac{\|Jz_n-Jx_n\|}{\alpha} \\ \geq &-M(\frac{\|z_n-x_n\|}{\alpha} + \frac{\|Jz_n-Jx_n\|}{\alpha}) \end{split}$$

for every $n \in N$, where $M = \sup\{\|v - z_n\| : n \in N\}$. Taking $n = n_k$, from (3.7) and (3.8), we have $\langle v - z, w \rangle \ge 0$ as $k \to \infty$. By the maximality of T, we obtain $z \in T^{-1}0$ and hence $z \in \text{VI}(C, A)$. Therefore, $z \in F$.

Put $u_n = \Pi_F(z_n)$. It follows from (3.5) and Lemma 2.6 that $\{u_n\}$ is a Cauchy sequence. Since F is closed, $\{u_n\}$ converges strongly to $w \in F$. By the uniform smoothness of E, we also have $\lim_{n\to\infty} \|Ju_n - Jw\| = 0$. Finally, we prove z = w. It follows from Lemma 2.4, $u_n = \Pi_F(z_n)$ and $z \in F$ that $\langle z - u_{n_k}, Ju_{n_k} - Jz_{n_k} \rangle \geq 0$. Since J is weakly sequentially continuous, we have $\langle z - w, Jw - Jz \rangle \geq 0$, as $k \to \infty$. On the other hand, since J is monotone, we have $\langle z - w, Jw - Jz \rangle \leq 0$. Hence we have $\langle z - w, Jw - Jz \rangle = 0$. From the strict convexity of E, we have z = w. Therefore, the sequence $\{z_n\}$ converges weakly to $z = \lim_{n\to\infty} \Pi_F(z_n)$. This completes the proof. \square

Corollary 3.1 ([7, Theorem 3.1]) Let E be a 2-uniformly convex, uniformly smooth Banach space whose duality mapping J is weakly sequentially continuous and C a nonempty, closed convex subset of E. Assume that A is an operator of C into E^* that satisfies the conditions (1)–(3). Suppose that $x_1 = x \in C$ and $\{x_n\}$ is given by

$$x_{n+1} = \Pi_C(J^{-1}(Jx_n - \lambda_n Ax_n))$$

for every $n \in N$, where $\{\lambda_n\}$ is a sequence of positive numbers. If $\{\lambda_n\}$ is chosen so that $\lambda_n \in [a,b]$ for some a,b with $0 < a < b < c^2\alpha/2$, then the sequence $\{x_n\}$ converges weakly to some element $z \in \mathrm{VI}(C,A)$, where $\frac{1}{c}$ is the 2-uniformly convexity constant of E. Further $z = \lim_{n \to \infty} \Pi_{\mathrm{VI}(C,A)}(x_n)$.

Proof Taking S = I in Theorem 3.1, we have $z_n = x_{n+1}$. Thus, it is obvious that the conclusion is true.

Remark 3.1 From Corollary 3.1, we can see Theorem 3.1 in this paper generalizes the Theorem 3.1 in [7].

References

- [1] LIONS J L, STAMPACCHIA G. Variational inequalities [J]. Comm. Pure Appl. Math., 1967, 20: 493-519.
- BROWDER F E, PETRYSHYN W V. Construction of fixed points of nonlinear mappings in Hilbert space
 J. Math. Anal. Appl., 1967, 20: 197–228.
- [3] IIDUKA H, TAKAHASHI W, TOYODA M. Approximation of solutions of variational inequalities for monotone mappings [J]. Panamer. Math. J., 2004, 14(2): 49–61.
- [4] LIU Fengshan, NASHED M Z. Regularization of nonlinear ill-posed variational inequalities and convergence rates [J]. Set-Valued Anal., 1998, 6(4): 313–344.
- [5] IIDUKA H, TAKAHASHI W. Strong convergence theorems for nonexpansive mappings and inverse-strongly monotone mappings [J]. Nonlinear Anal., 2005, 61(3): 341–350.
- [6] MATSUSHITA S, TAKAHASHI W. A strong convergence theorem for relatively nonexpansive mappings in a Banach space [J]. J. Approx. Theory, 2005, 134(2): 257–266.
- [7] IIDUKA H, TAKAHASHI W. Weak convergence of a projection algorithm for variational inequalities in a Banach space [J]. J. Math. Anal. Appl., 2008, 339(1): 668–679.
- [8] BALL K, CARLEN E A, LIEB E H. Sharp uniform convexity and smoothness inequalities for trace norms
 [J]. Invent. Math., 1994, 115(3): 463–482.
- [9] TAKAHASHI Y, HASHIMOTO K, KATO M. On sharp uniform convexity, smoothness, and strong type, cotype inequalities [J]. J. Nonlinear Convex Anal., 2002, **3**(2): 267–281.
- [10] AL'BER Y I, REICH S. An iterative method for solving a class of nonlinear operator equations in Banach spaces [J]. Panamer. Math. J., 1994, 4(2): 39–54.
- [11] BUTNARIU D, REICH S, ZASLAVSKI A J. Asymptotic behavior of relatively nonexpansive operators in Banach spaces [J]. J. Appl. Anal., 2001, 7(2): 151–174.
- [12] ALBER Y I. Metric and Generalized Projection Operators in Banach Spaces: Properties and Applications [M]. Dekker, New York, 1996.
- [13] ROCKAFELLAR R T. On the maximality of sums of nonlinear monotone operators [J]. Trans. Amer. Math. Soc., 1970, 149: 75–88.
- [14] XU Hongkun. Inequalities in Banach spaces with applications [J]. Nonlinear Anal., 1991, 16(12): 1127–1138.